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They are two against two — 1M AN

OVERVIEW

The X3 cites a 71977 (in the name of 27 MR ®1177 27) that if there was an WY
on one of the 0°1°7 on a 72 of "W 01p; then if the other two 0°1»7 did not
sign, they may testify to vindicate the third 7. Once the two 0°1°7 signed
however, they may not testify and have him sign. The &7723 challenges this
7091 and asks what type of w1y was it: if it was an v of ni%m, then it is
"M "0 (the X3 does not clarify what is the question exactly); if it was an
27y of anown 0o, then it is (merely) a X12¥2 Xn?1 M2°3 (again the X713 does
not clarify). m»oIn will cite s>"w1 interpretation (and challenge it), and the
s'm" interpretation.

— 5913 WA XYY 9, 291 979 1D 5T XY S90N 9 ‘09003 wIs
>'"'w9 explains; and when the 0°17 will testify that the 17 in question did
not steal, it will be a situation of M an (where two 0>7¥ contradict two

other o”7v), and the accused 77 will not be vindicated through the
testimony of the 0"17.

mooIn has a difficulty with the oav1P7 WITs:
—(:1n 97 maw) *119 DONT 19919959 *NIN 297 NN XINT DY)

And there is a difficulty with the aforementioned interpretation. For here
in this X712 we are following the view of X117 29 who maintains in a case of
M N -

— SHyNHINN XY YPIN 099 19 NIRT NTIYNY NNKY 393 AN 1T
That each group of the contradictory 2>7v may come independently to 7"°2
and testify (regarding other cases). The reason is that we do say that we
place the person (each 7v) on his presumptive status of M w>.° Similarly here,

1 g =t
AN AT
*In a case of ™M »n the accused will lose his n1Iw3 npin according to *"w.

? The X3 states: 191 1227w '3 12 X117 27 AR XA 27 R,

* When two groups of 27y contradict each other, each n3 is suspect of being 0*2108 0*7y; for each n> may be
the lying group.

> Just as by *m »n the testimony of (say) the latter group cannot impinge on the M w3 npin of the former
group (even though the latter n> accuses them of lying) because the former group contradicts the latter
group, similarly here the testimony of the 0°701977 0°7v cannot impinge on the M w> npin of the 17, since
the other 0>wan7 0°1>7 contradict the N7y of the 0°%0%. See footnote # 18.

® Each of the o*7v had a mAw> npin before this contradictory testimony. This m w2 np1i resolves the oo
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this third 17 had a M w> npin; the subsequent *M 70 cannot diminish this NMwW> npim.
He should be 7w> despite the *3n1 0. For *3m *3n cannot remove a MW NpIn.

mdoIn expands his question:
— %9 PNIY YIPY SN0 Y1NA (ow) MNNRT RTON 2997 T

And furthermore (even) according to X7on 29 (who argues with X117 17)’
and maintains that in a case of "M "n we say ‘why get involved with

these false witnesses’. X701 21 is of the opinion that these two 0¥ °n3 cannot testify

elsewhere, for each is suspect of being false o>7v. Nevertheless X701 27 would -
— AVUONMI XYM NI INNT NI NN

Admit here, that this person (the third 1°7) would be naturally vindicated

and able to serve as a 7°7. MdOIN explains:
— D109 NINY 1NN DX DY NP0 YINN HNN N ON Y9NV

For if one of these contradictory 2°7v sn> would (subsequently) testify

concerning a certain person that he is unfit for m7, etc.; the n> -
— SnYonan DX PRT 23 YY R NINNI NN XY 3PV STND INY PUNT RTON 299

Would not be believed to be 01 this person according to X7om 29, for 217
X701 considers the members of each n> as false @2>7w. This is true in spite of

the fact the no one is contradicting this n> in this testimony, which claims that a

certain person is 2109 -
— 9139110 NI SWNINT *1ND NIINT NI )9V b

And certainly in our case where there are 2°7¥ (the two 2°1°7) who

contradict the °5071 0°7¥, the 0°201977 0>7v will surely not be believed; and
the alleged 9105 would be “w>.”

mooIn has an additional difficulty on >"w":
— NI N1YYA XNDN M) NNOWM DIDT IPIY IN 9INPT PNYY 13939D NYP TV

9109, and renders them as 2™Ww> D77y

7 moon asks his question according to X701 27 (even though Moo previously said that X7 277 X9
11°m™p), perhaps because X111 27 states this 71377 in the name of 27. It is possible that 21 follows the view of
X701 27 and not of X177 27 concerning M *7n. Alternately npo1n want to clarify that in a case of *n *7n
the accused retains his M w> NPT according to both X117 27 and X701 2.

8 They were contradicted (only) in the initial testimony (in a different case); nevertheless their nann 9109
790 carries over and extends to all cases, even those in which they are not contradicted.

? It is only concerning the D@ nonn 07y themselves, that X7om 27 maintains that the 2109 oo is stronger
than their M Ww> npin (since there are 0°7v who contradict them). However concerning the alleged 9109 (as in
our case) since there is two 27V *n> who contradict each other (and X701 27 considers them as *7pw >770),
they cannot invalidate his nM1w> nprr. [Alternately: The o°w noni 07y are considered pw >7:70. They can
therefore not testify again. However the 17 was allegedly 093, (only) through *7pw *770; they cannot
diminish his nw> np1r.] See “Thinking it over’ # 1.
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And the >''1 has an additional difficulty; for the XX states, ‘if it is a
contention concerning a family type blemish, then it is merely a

revelation of the facts’ -
— 929D 9925V 1Y IPTIIY NN MYy NHwyn 9299 OHY0NIPN YD

And "2 explained, that this 77ow» 039 is something that will eventually
be revealed, for they will search out the facts until the matter will be
clarified. Therefore even if the o1>7 signed, they should be able to testify, for it is not a
real MTY N7, merely a RN M"9x —

nooIN asks:
- 72y NINY 099N /2 9NV )12s~] o9y 9290 9920’ TN 9N M

And this is astounding! How can the matter ever be clarified, since these
two witnesses claim that he is an 72y, therefore -

- ANMID YT IWININY D91 ©9IYN Y PN
The entire world cannot refute them, for two 0>7v are as effective as a

hundred 2>7¥. No matter what evidence may show up, once these 0>y claimed that the
"7 is an 72y, they cannot be refuted

Mmoo offers an alternate explanation of the X na:
— ©59NN NP NIN 193957 MyTwa 599N KIT INIIN 13929 W19 ANI 13 Iy

Therefore n1o01n prefers the interpretation of the rn''%; that we are not
discussing the testimony of the 231997 (the 0°1°7 are not testifying about the
third 1°7), but rather the testimony of others concerning the third 17 -
— 0NN NN HY 999 NP mMNN XDV 1Y ON AW 29
And this is the explanation of the X7n3; if there was a contention
concerning one of the 0°1>7 before the others signed, then -
- MmN 19y own 1n D2v 03I
Two people from the market can testify concerning the maw> of this 77

and he may sign the po377. The reason is -
- 12]’)33'\11'\1 AVINN YN SV KDY 1MNPYWINY NN 127 192 1AW 19N MY

For it is considered as if the 7''92 convened after the 17 was vindicated,
and the committee meeting place was not annulled, and all the 1°3°7 sign.

However -
= 9y 1Yy NIPY 1y oINNY *VIYYN 72990 N9 ©2VN MNNYN

' According to *"wA the question is whether the other two 2°17 are n17v2 Pyan. Not so according to the 1.
' See “Thinking it over’ # 3.
"2 It would seem that a 2w 797 is not considered convened, until the 2°37 begin to sign.
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Once two of the 0°17 signed and the third 77 did not manage to sign

before his legitimacy was contested, then -
— 1217 D2 IMN HY aYmn 1N YY) HY9Y Na

The contention nullified the 2257 791 of that 7''2 -
—HVa AV NN YAy 1972 YD NINY DYINN 1T1P¥N 12 YINNRY 9 by GN

Even though that afterwards others testified that the third ™7 is w>,

nevertheless once that 22 was nullified it remains nullified -
— 179 99 11 %2 2WINDY NINY TP

And it is necessary to reconvene a new 7''’2 for this case, and sign the 177
again.

The &7723 continues (according to the 11"79) and asks:
= DY09%0 NI 11323 29 291 RIMITT 9P9Y IN INNT Y9y

What type of contention was there against this ™7; if it was an 2y that
the 77 was a robber; that should not be a problem (even if two 217 signed
already), for it is a case of 01 " n, and the 7 is not 9105 -

- BarnmtnN N9 YPINY 990 7103 299 YINT
For we set the two 0°7v against the other two 0’7y who cancel out each

other and we place the person on his presumptive n-w> status -
— D109 NP1 XY ODIVNT XNYN ININIINT 11999

And since it subsequently became apparent that this 1°7 was never 105 -
=197 %2 IMN HY aWIN 19 YA NN RY YN

It turns out that the 2w 27 731 of that 7''>2 was never 2. There was always
a proper 7" of three 0> w> 0°17. Why is it necessary to reconvene a new 727!

The X3 continues:
— DN 0 ITNY T2y NINY 1YY 199XV NNAYN DT 99y IN

If it was a contention of a nnown 230 they claimed that the 17 was an
72Y, and the second group of pwi 12 2°7Y that are vindicating the 77 are

refuting through 7177 the original 2°90177 0. MO0 interjects to explain why it is
necessary to say that the 0°°woni 0>7v are 0217 7Y -
— APINNR RI2) PIN 999109 XIIT DD 151 )9 ON TaY 1INV DI9NDIN INT

For if the second group would merely claim that he is not an 72v, then the
17 would be »o21; for in this case of M "N we cannot say X923 SN
PR -

" This is what 00 maintained originally that *m *In cannot impinge on a M3 NPTA.
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- “o9un mawa notn 1Y N%A XY 12y NYH ONT
For if he is an 72y as the first group claims then he never had a npmn

N2, Therefore we must say that the 2>7°wdni1 0°7y are 2°1»°17 0°7Y; in which case they

are totally believed and the testimony of the first 2°7¥ is discarded -
- NN Niabya XYM 99 )2 ON

If that is so that the o>wonn 07y are o217 27 then their testimony is
merely a Xnbam M3 -

= AYIMN TYN YV XYY NYIY XINNA )Y NN N1 NN TWIT NNDN INDIINT 11997
For since it was revealed that the contested ™7 was always w2 why
should the =¥2¥ concern us; the 227 791 was never »va?!

The X3 concludes:
— NAYN TAYT 1152 199972 3TN0 I MININDT NMIDIIT ¥y O0YH

That really it was an 2p1p of nu®m and the latter o7y testified we know

that the 77 did 72n, which makes him w2 to be a 77 -
— 2N 1IN YY) P9y NPT AP MIN RIN ITIT IRPPY ITIT 1)

And since the latter 0>7v admit to the former 2°7v that the 77 was a 7913;
therefore the vy of the former 2’7V is considered a valid =9y and it

nullified the 227 791 -
ymAawa 199 Y1V 1Y MY NPINA N YUYW NI NN INYNT

For since it is true that the 1°7 was »o21 for a period, he is in a status of
mbop np until we become aware of his nw>.

SUMMARY
According to >"w1 the X°wp of >N 0 means that the 17 is 109 (even X5w 7V
mnn). The ®°wp of KNP 19°3 means that the 7°°7 is W2 (even MNAWH).

' This perhaps what the X723 had in mind when it asked Anow» 037 7y *X; that even if you want to say it
is a nnown 03d where we cannot say that it is >0 *7n and rely on his Mw> npin; nevertheless there is a
difficulty with the w1 77an 13%7. If there are only o°w*nan7 079 then since he has no N w3 npin, so even if
the 017 did not sign he cannot be fvx¥n since he remains a 7109 oo, and if there were 2° 7 07y, then
even if the 0°1»7 did sign the 2w 7¥1 is not 7v1.

' The X1 uses the expression ¥1%y2 X0 7% to distinguish this situation from the previous one of *n
*m. By M *1n the 17 is w5 (in spite of the 9109 po0) because of his M w> npr. Here (by nnown a3 and
11 0°7Y) the 1207 is completely “w> without any nMp°o0 at all. The o>t 0°7v make his MIw> a XKn?n 9%,
' This is different from *"w2 who understands the answer to explain why the 77 is 2> (even though it is
"M "1n); it explains why P71y 0 &2w 7v. However according to the "1 it explains why 1°7°9 7X yannwn.
" Even though the 0w o*7v stated that he did 2wn before this case and was therefore > to be a 77
in this case; nevertheless since we became aware of it, only after he was 2109 npina, his new status as a W3
begins only after this testimony. See &"2v1.
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mooIn argues that an accused by *m "N is (¥"13%) w2 on account of his
mw> npin.'® Also, there can by no Xno» "1%°3 by anown 3 because >N
N2,

The "9 maintains that by >0 >0 the 7 is w5 and there is no ¥ 702
2wvan. By anown oao if there are 1nmt 07y there is no awma Ty 7wl
However, if the 0>7v state that the 7°7 did 721wn, then there is a 7y 71002
mliZatal

THINKING IT OVER

1. It seems from N1BOIN that by M >N, according to X117 27 the accused is
certainly w3 (he has a mw> np1), and even according to X701 27 he is also
aw>."” However, it seems that the opposite is true; that according to X7or 27
(who maintains that the 2°w°noni 07y are pPY >710), the accused is certainly
aw> (without any M w> np1) for no 0™ w3 o>y are challenging his n1w>!*

2. According to the n"1 why does the X723 ask 121 Xn?o1 "9 Anown 030 OX;
the X7n3 should have said (even XmiIo1aa): 191 RN9°1 2% Pamr 0073 )11

3. The n"" states that we are discussing 2nX M7y not 2°»77 M7v.”> Does
this mean that we are discussing only 21X M7¥; or does it mean that it is
not necessarily 0°1»77 M7V it can also be o nR MTY?>

18 See 1"1pn — 2"1pN NPMIR 23 MW for a comprehensive defense of *"wa nww.
19 See footnote # 9.

20 See (5"wAan) oW NRIM.

21 See (3x71 MR N"n 2"M) w"KIT M1OIN.

22 See footnote # 11.

2 See X"2v1 and w"R7 'OMN.
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